BbIXoHO#i JyueBOd TETPOJ,
Output beam tetrode

13MIC

Bruixomuoii siyueBoit Terpon 13I11C npennasua-
YyeH /51 YCHJIEHHsi MOIIHOCTH HH3KON YaCTOTHI

Bruixomguble Jyuesbie Tterpoirt 13[11C BhImyc-
KaloTcsl B CTEKJISHHOM O(OPMJIEHHH C OKTaJbHbIM
HOKOJIEM, C OKCHAHBIM KaTOJOM KOCBEHHOIO Ha-
KaJaa.

Bouixonnbie JayueBble terpomwl 13IT1C ycroiun-
BBl K BO3eiCTBHIO OKpyxKalollled TeMIlepaTypbl OT
—60 mo +70°C u OTHOCHTEJBHOH BJIAKHOCTHU
95—989% npu temmeparype +20°C, a Takxke K BO3-
JeHCTBUIO MeXaHHUeCKHX BHODALMOHHBIX HarpysokK
no 2,5 g.

HauGoabimmit Bec 50 e.

Fapanruposannas poJaroBeyHocTb 2000 wyacos.

The 13IT11C output beam tetrode is designed
for amplification of low-irequency power.

The 13IT1C output beam tetrodes are enclosed
in glass bulb and are provided with an octal base
and an indirectly heated oxide-coated cathode.

The 13I11C output beam tetrodes are resistant
to ambient temperature from —60 to +70°C and
relative humidity of 95 to 98% at +20°C, as
well as to mechanical vibration loads up to 2.5 g.

Maximum weight: 50 gr.
Service life guarantee: 2000 hr.

AJEKTPUYECKHE JAHHBIE
ELECTRICAL CHARACTERISTICS

U, 1BV Uy © P, ?) 550 mW
I, 75080 mA I, 42+10mA k) <109,
U, 2V I, <4mA S 75+15mA/V
Uy 26V P, 1) >220 mW R, 15k

1) B 0HOTAKTHOM DEXHMe IpH Ugl~eff=5’5 V u R, =750 Q.
Under single-cycle operation at Ug]~eff=5‘5 Vand R, =750 Q.
2) B nsyxrtakTHOM pexuMe (A nByx aamm) mpd Ugp _ep =11 V u R, =15kQ.
Under push-pull operation (for the both tubes) at Uy =11 V and R, = 1,5 kQ.
3) B gByxraktHoM pexume npu Ugy _ o5 =85 Vu R,=15kQ.

Under push-pull operation at Ug,

e =85 V and R, =15 kQ.

ME)XIOY3JEKTPOOHBIE EMKOCTH
INTERELECTRODE CAPACITANCES

Cglk 15,6+2,5 pF
C.x 13,0+2,5 pF
Cgla < 2,6 pF

NPEAEJBHO JOMNYCTUMBIE 3KCMJYATALMUOHHBIE JAHHDBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max Min
U, 143V 11,7V
U, 110V
Ug2 80V
P, 6W
qu_, W
U, 100 \%
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I 3 I'-l I C BrixonHoii ayyesoi TeTpon,
Output beam tetrode
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